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EC1010/Ashton/Summer 99




Circle the appropriate section:

Homework 7 (Chapter 8): 




Due: Wed, 1 Sep 1999




Monday
Tuesday

Name: _____________________

The solutions must be accompanied with appropriate plot(s) , and diary and program files. 
1) Write a simple function called rsh of the form, B=rsh(A,n1,n2), where A is a matrix, n1 and n2 are two integers, and B is a matrix returned by the function.  The function is to be an extension to the MATLAB function reshape and should meet the following specifications:

a) When the number of elements requested in the output matrix (i.e., the product of n1 and n2) is equal to the number of elements in the input matrix A, then this function behaves exactly like the reshape function.

b) When the number of elements requested in the output matrix is less than the number of elements in the input matrix A, then B is filled with just the first n1*n2 elements of A (by column).

c) When the number of elements requested in the output matrix is greater than the number of elements in the input matrix A, B is formed with elements of A taken by column, and restarting again with the first element of A until B is completely filled.

d) Use the following three examples to test your function. 

Example:   
 X= 
1 4 7 10

   



2 5 8 11

   



3 6 9 12

Example ‘a’:

>> Y=rsh(X,2,6)

Y= 1 3 5 7  9 11

   2 4 6 8 10 12
Example ‘b’:

>> Y=rsh(X,2,3)

Y= 1 3 5

   2 4 6
Example ‘c’:

>> Y=rsh(X,4,5)

Y= 1 5  9 1 5

   2 6 10 2 6

   3 7 11 3 7

   4 8 12 4 8

2) Use a while loop to calculate the infinite series: 
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 where r=0.5 and k=0,1,2,3,…  Calculate the series until rk is less than 1x10-10.  Display the last value of S and n that were used while rk was less than 1x10-10.  Try to do this with a vectorized solution as well.
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